SDNIE|
HET—SH4]
IF-UH (TTSTHA)
g9y : 3 e B IHb: 50
(31) WRc Qreerexen

rearI—I e e &1 3R:

BH gl <l d§ RIS @ GHR- 9RAY iRl @l B
SRR~ IR 3ieqaRel § @Y BT WIF— YR &F H (ol B Sid— IS
M AR FHW B ARTEHE— YR &3l H ASR— AT HI IRRH— B Td IRA™
Fafd— g vd e fdera— oY Sdeed— 9Rd €W & fou 9 wwrea—
rEiffies fddr e — @Y &R IANT & Rba— aodq Aeld Sa— 9YRT & HeR
SEUR— g UAET &F — §s UMM & SE— Sl § uklRie fawwag— sinfie
IARHAT UG BRI H[IAA— ST DI JBR Gl Ud 7 IAeHar & dRU—
NP b B A1) FEag— [eel @MUR— ARG seferawen # faqell &muR &1
B R— AT Td JRATT B G Ha— 9RA & Hafdl AR i dl g9 |

311 IT TG s s

s fawr & Hadd H T B YAS-IISDNE Afd —Hifad
NS wd fawer w® 9dee  FREv-siEife  agsiRi—  enfie
RIS —aTasdad] Ud Iexa—FRIN @) JvIfaai—are Rl & iaiq e fdea—aw
@ <P & oy I | da—adig Aror

sk s s sk ok sk st sk sk s sk sk sk sk sie st sk sk sk sk sk sk sk st sk sk sk s sk sk sk sk sk sk sk sk skoskoskok



9T : 3 goe

SONIES
HET—SH4]
T (argas)

@) fearaa &1 e faamrd

3k 3k 3k ok >k 3k ok ok 3k 3k ok 3k 5k 3k >k 3k 5k >k 3k 3k %k >k 3k 5k >k 3k 5k %k >k 3k >k >k >k 5k %k >k 3k *k %k %k 5k *k k %k >k *k k

B IHb: 50



SONIES
HET—SH4]
P o=

Question Paper Pattern

1. Question Paper has two Sections 1 & 2
2. Section 1 is objective type.

(a) Q.1 to 20 MCQ of one mark each with four options provided.
3. Section 2 Subjective Type

(a) Part A Q1 to 7 each carrying 2 marks. Do any four.

(b) Part B Q. 8 to 11 each carrying 3 marks. Do any two
(c) Part C Q. 12 to 17 each carrying 4 marks. Do any four.
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